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QUESTION 153
Refer to the exhibit. Which type of antenna does the radiation pattern represent?

Antenna 30D Radiation Fattarmn

Yagi
multidirectional
directional patch
omnidirectional

oCow>»

Answer: A

QUESTION 154
Refer to the exhibit. The inside and outside interfaces in the NAT configuration of this device have been correctly

identified.

access~list 1 pernit 172 16.1 .0 0.0.0.255%
ip nAt lAside gouzrce list 1 interfacde glgabitetherneatd/0 overload

What is the effect of this configuration?

A. dynamic NAT
B. NAT64
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C. PAT
D. static NAT

Answer: C

QUESTION 155
What does the Cisco DNA Center use to enable the delivery of applications through a network and to yield analytics for
innovation?

process adapters
Command Runner
intent-based APls
domain adapters

OO w»

Answer: C

QUESTION 156
Why is an AP joining a different WLC than the one specified through option 43?

The WLC is running a different software version.

The APl is joining a primed WLC

The AP multicast traffic unable to reach the WLC through Layer 3.
The APs broadcast traffic is unable to reach the WLC through Layer 2.

00>

Answer: B

QUESTION 157
Refer to the exhibit. Assuming the WLC's interfaces are not in the same subnet as the RADIUS server, which interface
would the WLC use as the source for all RADIUS-related traffic?

WLANS > Edit "'Guest_Wireless”

| General | Security | QoS | Policy-Mapping | Advanced

Layer 2 | Layer3 | AAA Servers

Select AAA servers below to override use of default servers on this WLAN
Radius Servers

Radius Server Overwrts interface ™ Enabled

Interface Promty | WLAN 'I

Authentication Servers Accounting Soervers
¥ Enabled ¥ Enabled

Server 1 | None =l [none =1

Server 2 ]r Naone _-J lNom.- 3

Server 3 | None =1 None =)

Serverd I None 3 [Noneg

server S | None =l [mone =1

Servar & | None =1 [wone =1

A. the interface specified on the WLAN configuration
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B. any interface configured on the WLC
C. the controller management interface
D. the controller virtual interface

Answer: A

QUESTION 158
An engineer must protect their company against ransom ware attacks. Which solution allows the engineer to block the
execution stage and prevent file encryption?

Use Cisco AMP deployment with the Malicious Activity Protection engineer enabled.
Use Cisco AMP deployment with the Exploit Prevention engine enabled.

Use Cisco Firepower and block traffic to TOR networks.

Use Cisco Firepower with Intrusion Policy and snort rules blocking SMB exploitation.

00>

Answer: A

QUESTION 159

Wireless users report frequent disconnections from the wireless network. While troubleshooting a network engineer
finds that after the user a disconnect, the connection re-establishes automatically without any input required. The
engineer also notices these message logs .

AP 'APZ' s down Reason Rado channs! zet 53204 ™
AP APY 15 down Reason Radochanne! sal 54449 F
AP 'APT' |s down Reason Rado channel sat 634 2 P

Which action reduces the user impact?

increase the AP heartbeat timeout

increase BandSelect

enable coverage hole detection

increase the dynamic channel assignment interval

00>

Answer: D

QUESTION 160
Which algorithms are used to secure REST API from brute attacks and minimize the impact?

SHA-512 and SHA-384

MD?5 algorithm-128 and SHA-384
SHA-1, SHA-256, and SHA-512
PBKDF2, BCrypt, and SCrypt

o0 >

Answer: D

QUESTION 161
Company policy restricts VLAN 10 to be allowed only on SW1 and SW2. All other VLANS can be on all three switches.
An administrator has noticed that VLAN 10 has propagated to SW3. Which configuration corrects the issue?

sSWi SWw2 SW3

G/ Gil/2
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SWilconig®int git/1
SWilconig =switchport trunk allowed vian 1-9,11-4094

B. SWaiconigmint giti2
SWilconhg #switchport trunk allowed vian 10

SWa(config#int gi1/2
SWZcanfig =swiltchport trunk allowed vian 1-9,11-4094

D. swu config=int gitn

SWilconfig #switchport trunk allowed vian 10

Answer: C
Section: (none)
Explanation/Reference:

QUESTION 162

Refer to the exhibit. An engineer reconfigures the pot-channel between SW1 and SW2 from an access port to a trunk
and immediately notices this error in SW1's log.

S0/

GO/

Which command set resolves this error?

A.  SWiicasigsinteriace GOO
L dg-=spanning tree bpduguard enadle

Answer: B

QUESTION 163

A company plans to implement intent-based networking in its campus infrastructure. Which design facilities a migrate
from a traditional campus design to a programmer fabric designer?

Layer 2 access
three-tier
two-tier

routed access

00>

Answer: B
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